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Determine CZ and BD
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Determine the rato of the perimeter of (NEW to the perimeter of (AYR
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Prove: (ABR is similar to some other triangle in the figure.
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The Two Pole Problem

First, do these three problems where the given is the same except that the length of 
[image: image16.wmf]CB

 is changed. Look carefully at your answers and see if you notice anything. In fact, you might try to guess what happens before you start. Things like, in which case will 
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 be shortest?
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  Find EF




3) 
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 Find EF

If you were able to solve these three problems correctly, you probably noticed something quite interesting about your answers. If you did not notice anything interesting, look again, it is hard to miss.

Considering your answers to these three problems, see if you can formulate a conjecture about “The Two Pole Problem”  Write it below. Write a formula for EF in terms of just AB and CD.
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First we will revisit a very important problem from previous work.


[image: image24.wmf]m

G

m

L

m

GOL

m

DLO

m

DOL

Ð

=

Ð

=

Ð

=

Ð

=

Ð

=


Now look at the triangles and the angle measures and determine the lengths of each of the following. Do not expect integer answers. Show work at the bottom of the page. 
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And finally, determine each of the following ratios,
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Prove: 
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Also try to prove
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A fence post 5 feet high casts a shadow 6 feet long. the shadow is created by a light on a barn roof. The wall of the barn roof is 20 feet away from the fence post. How high is the light?
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Find DC

Review 1 ~ Similarity
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KOPR is a rectangle
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review 5 ~ Similarity
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review 11 ~ Similarity

In trapezoid LPST, the diagonals intersect at R. LS=12, LR=4, PR=3. find PT
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A pole stands perpendicular to the ground, 20 feet away from a 30 foot tall light post, and casts a shadow on the ground.  When Mr. Herrmann moves the pole 5 feet further away from the light post, the length of the pole's shadow increases by 3 feet.  How tall is the pole?
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